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1) When dissolved H’u y Ilum ch lnndu reacts with dissolved mhit nmm in water. aqueous beryllium
nitrate and silver chloride powder are made. '
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2) When isopropanol (CiHxO) bums in oxygen. carbon dioxide. water. and heat are produced.
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3) When dissolved sodium hydroxide reacts with sulfuric acid (H:S04). aqueous sodium sulfate, water, and

heat are formed.
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4} When fluorine gas is put into contact with calcium metal at high temperatures. calcium fluoride powder
1s created i an exothermic reaction.
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5) When sodium metal reacts with iron (11) chloride, 1iron metal and sodium chloride are formed.
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1) What is the theoretical yield if you have 1.5 g of both reactants
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ams o calc1 oride are produced w1th 7.9 g of fluorine? What is the actual mass if you
% yield? How can you get more than 100%?
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5) What mass of 1‘1"dn is produced from 2.0 g of sodlmn? What is the actual mass if you have 94. S%inel i

Why is it less than 100%?
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